NEW PRODUCTS 2025 wee 80/20

“4® "’ BuUILD YOUR IDEA

Product Details

* Fast, Simple, Scalable Guarding System

» Works with 10, 15, 25, 30, 40, 45 profile series

* Connect up to four mesh panels on one post

* Anchor to ground with included floor bracket

¢ Available in five mesh panel sizes

* Three fastening method options

* Matching mesh panels for traditional 80/20 guarding

Framed Mesh Guarding with Posts

10" /22" /34" /] 46" / 58"

Floor
Bracket &
Hardware
Included

87.5"

Mounting Posts

) Extruded Yellow 9.700 Ib
24881 88" Mounting Post, Thru Hole in T-slot, w/ Floor Bracket Aluminum Powder Coat (4399 kg)

. . ) Extruded Yellow 9.700 Ib
24882 15] 88" Mounting Post, Tapped in T-slot, w/ Floor Bracket Auminum Powder Coat (4399 kg)

" . - Extruded Yellow 9.700 Ib
24883 15] 88" Mounting Post, No Machining, w/ Floor Bracket Aluminum Powder Coat (4399 kg)

Note: Other 80/20 profiles can be substituted as a mounting post.

Mesh Panels

Description Mesh Grid Material ini Weight

241082 (FIM| EA 10" x 82" Framed Mesh 2.50"x 1.25" 10-gauge steel mesh / 14-gauge steel frame Black Powder Coat (RAL9005) (?é%%oklg)
242282 [F M| EA 22" x 82" Framed Mesh 2.50"x 1.25" 10-gauge steel mesh / 14-gauge steel frame Black Powder Coat (RAL9005) (1&%350&
243482 (FIM| EA 34" x 82" Framed Mesh 2.50"x 1.25" 10-gauge steel mesh / 14-gauge steel frame Black Powder Coat (RAL9005) (123338 ILZ)
244682 [F M| EA 46" x 82" Framed Mesh 2.50"x 1.25" 10-gauge steel mesh / 14-gauge steel frame Black Powder Coat (RAL9005) (fgfgg Il(t;)
245882 (FIM| EA 58" x 82" Framed Mesh 2.50"x 1.25" 10-gauge steel mesh / 14-gauge steel frame Black Powder Coat (RAL9005) (fgggg ILZ)
2486-58x93  [IF M EA 57.75" x 92.625" Mesh Panel (No Frame) 2.50"x 1.25" 10-gauge steel mesh Black Powder Coat (RAL9005) (12377;;) Il(t;)
2486 I [ perSqFt Mesh Panel (No Frame) 2.50"x 1.25" 10-gauge steel mesh Black Powder Coat (RAL9005) 0.639 Ib / ft2
65-2486 AL perSgM  Mesh Panel (No Frame) 2.50"x 1.25" 10-gauge steel mesh Black Powder Coat (RAL9005) (3.120 kg / m?)

Effective Date: 04-30-2025



NEW PRODUCTS 2025

hee 80/20

“4® "’ BuUILD YOUR IDEA

\ A £

° F

:‘ Mounting Hardware

24221 1 1/4-20 x 2.00" Carriage Bolt & Hex Nut
24101 [E 1 1/4-20 x .750" Flanged Bolt
24331 [15] 1 1/4-20 x .500" Flanged Bolt x T-Nut w/ Ball Spring

ol

Note: Hardware intended
for 1.50” posts.

Slot Detail
Scale 2:1

Mesh Panels Dimensions

panto | A | 8 | c | o | e | ] o[ ]

241082 10.000” 1.122" 2372 81.813" 1.325” 750" 328" 938" 320"
(254.00mm)  (28.49mm)  (60.24mm) (2078.05mm) (33.65mm) (19.05mm) (8.33mm) (23.82mm) (8.13mm)
242982 22.000” 1.122 23712 81.813" 1.325" 750 .328 .938” 320"
(558.80mm)  (28.49mm)  (60.24mm) (2078.05mm) (33.65mm) (19.05mm) (8.33mm) (23.82mm) (8.13mm)
243482 34.000” 1122 2372 81.813" 1.325” 750" 328" 938" 320"
(863.60mm) (28.49mm)  (60.24mm) (2078.05mm) (33.65mm) (19.05mm) (8.33mm) (23.82mm) (8.13mm)
244682 46.000” 1122 2372 81.813" 1.325" 750" 328" 938" 320
(1168.40mm) (28.49mm)  (60.24mm) (2078.05mm) (33.65mm) (19.05mm) (8.33mm) (23.82mm) (8.13mm)
245882 58.000 1.122 2.372 81.813 1.325 .750 .328 938" 320"

(1473.20mm)  (28.49mm)

(60.24mm) (2078.05mm) (33.65mm) (19.05mm) (8.33mm) (23.82mm) (8.13mm)

T-Slot Channel Tap Machining Service

7700 Side Tap, 1/4-20, 10 series 30-7704 Side Tap, 5-16-18, 30 series
7701 IE Side Tap, M6, 10 series 30-7705 m Side Tap, M8, 30 series
7702 15] Side Tap, 1/4-20, 15 series 40-7702 140 Side Tap, 1/4-20, 40 series
7703 [15] Side Tap, M6, 15 series 40-7703 40] Side Tap, M6, 40 series
7704 15] Side Tap, 5-16-18, 15 series 40-7704 140 Side Tap, 5-16-18, 40 series
7705 [15] Side Tap, M8, 15 series 40-7705 40] Side Tap, M8, 40 series
25-7700 25] Side Tap, 1/4-20, 25 series 45-7702 45| Side Tap, 1/4-20, 45 series
25-7701 [25] Side Tap, M6, 25 series 45-7703 45] Side Tap, M6, 45 series
30-7702 30 Side Tap, 1/4-20, 30 series 45-7704 45] Side Tap, 5-16-18, 45 series
30-7703 K Side Tap, M6, 30 series 45-7705 45] Side Tap, M8, 45 series

Note: Only 1/4-20 & M6 side taps are compatible for framed mesh panel use.

Effective Date: 04-30-2025



NEW PRODUCTS 2025 w34 80/20

BUILD YOUR IDEA

What Do | Need to Order?
Thru Hole 1.50"” Post

3 Mounting
Holes Per Side

I

1 1

143.5" Guard

1. Select Post Style
Part No. | Qty Description
24881 B 88 Mounting Post, Thru Hole in T-slot, w/ Flool B
*Floor Bracket Mounting Hardware Included ] B
2. Select Mesh Panel Frame l nya
[ Qty Descnpnon /:: LI I ity
T 243482 4 34" x 82" Framed Mesh <l H MM HETATHL L1
el I ::—»<::/< T T ]
| =i L] ‘: = ‘: \::>: I
3. Select Mounting Hardware ailiinp= A s u i litiin A%
T il Part No. | Qty | TR —\\:: i :’ ]
[ J 24221 15 1/4-20x 2.00" Carriage Bolt & Hex Nut TR Tk T
I L+ " 1T /::<: ><: ~H 5
“ | || //'% [T<] I
I | LT Brigst Psasi S J=S M~
| Pl [T o« ™ ‘:
///// il >R ’/<j ‘/]: + 4 | |
L+ /3 bk 1 Suiflllinss® 8

Effective Date: 04-30-2025



